INSTRUCTION MANUAL

CA-19

COVER

ENCLOSURES AND
HARDWARE SYSTEMS

DESCRIPTION. The Kepco Model CA-19 Cover (see Figure below) is supplied for use with Kepco MRW 150KV Series
Power Supplies. This easily installed, two-part steel cover is an option designed for shielding and protection. Required
installation hardware is provided.

INSTALLATION:
1) Remove cover from frame base by removing tape (not shown), disengaging tabs marked (B), and sliding cover
forward.

2) Remove and retain hardware from poly bag (not shown) taped to frame base.
3) Position MRW 150KV Power Supply over the four threaded spacers on the frame base marked (E), as indicated.

4) Insert the Model MRW 150KV into the slot marked (D) at one side of the frame base. When the MRW cand is
properly inserted into this slot the spacers marked (E) will be aligned with the mounting holes of the MRW 150KV.

5) Fasten MRW 150KV Power Supply to frame base with four M3 X 8 binding head Phillips screws (PN 101-0434)
marked (C), and four #4 lockwashers (P/N 103-0014)

6) Drop cover in place by engaging tabs marked (B) and sliding cover backward. Attach frame base to cover with two
M3 x 4.5mm flat head Phillips screws (P/N 101-0435) marked (A).

7) Connections to CP1 is via cutout on cover top.

=7

)
1

COVER INSTALLATION

FRAME BASE

©KEPCO, INC., 1993 2281047

Data subject to change without notice - SEOT
D



NOTES :

I. DIMENSIONS IN PARENTHESIS ARE IN MILLIMETERS.
2. SCREWS FOR 8-32 MOUNTING HOLES NOT TO BE
SCREWED IN MORE THAN. N.zﬂ O) FROM

FRAME SURFACE.

3.2 0.04 (*1) TOLERANCE cz_.mmw OTHERWISE

SPECIFIED.

Lh 5

(4) MOUNTING HOLES x\

# 8-32 UNC

¥
® Q%T g
O
O o[ COVER
=4 o STEEL
. o [(zinc pLATED
! o.o. ALT: GALVA-
_ e m: _NIZED)
i uum @ |O
~lomlc
p B M=
O um_w.= <|—
O |.»
o [l
O
O N
@) _, cPI O] Lce2
@ \\...\,hwcl H — A \
\ 4.80%.02 1.8l =
h (122.0£0.5) (20.5)| (=
6.50 L
* (165.0)

Lo,

FRAME

¥ STEEL
(ZINC PLATED
ALT: GALVANIZED)

.27 MAX

[

(7.0) MAX

MECHANICAL OUTLINE DRAWING

KEPCO, INC. ¢ 131-38 SANFORD AVENUE * FLUSHING, N.Y. 11352 U.S.A. * TEL. (718) 481-7000  TWX (710) 582-2831 * FAX (718) 767-1102





